Monday Maths
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58 - 23 =

24 = 2 =

Challenge!

19 +

=35

45 + 35 =



Tuesday Maths

24 + 53 = 57 - 26 =

30 + 10 = 12 x 2 =

Challenge!
25=12 +




Wednesday Maths

35 + 39 =

30 + 5 =

7 x5 =

Challenge!

47 -

=27

80 - 41 =



Thursday Maths

he - 32 = 6 x 3 =

35 + 31 = of 46
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Friday Maths

29 + 36 =

N )

of 48 =

bx9 =
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51- 36 =



What if...

~you decide the cost of the lerms in a holf-price sale?

|_tem | Price
| Coat | es0 |
| Trainers | £30
| Trousers | £10 |

A shop sells the
A shop sells the abowe items.

below items.

In the half-price: sole Ahmed spends £50. -
In the sale the prices Im the sole the prices are habed.

What cowld he have bought?
— are halved. What will be the new prices in the sale?
Ul'h_:hn_l ba fhe new Sofia deddes to buy a coat and a pair of
prices in fhe sale? trousers in the sale.
How much will it cost her?

| Trowsers | 10|

Emnma has £23.
A jumper costs £44.
Will she hove enowgh meney to buy the jumper in the sale?
Explain how you know.

A shop sells the above ibems.
In the sale the prices are halved.
Sofio decides to buy o coot and a pair of
trowsers in the sale. How muech will it cost her?




